Chapter 8: Modeling chains of ODEs

dR dN dM
= [r(1— R/K)—-bN|R

= bR —d —cM|N and

— [¢N — e]M
1 = [e el

dt dt




Modeling chains of ODEs
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Modeling chains of ODEs
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Kaunzinger & Morin, Nature, 1998
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Modeling chains with saturated interaction terms
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Per capita function always depends on variable itself.
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Modeling chains with Beddington interaction terms
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Other famous chains don't suffer from this problem
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R and [ are proportional to previous level




Cascade of cell divisions
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Solve eigenvalues from determinant (product diagonal elements)
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Cascade of cell divisions




Chaos in a 3D food chain
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Exercise 8.4



Kinetic proofreading: last exercise
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Kinetic proofreading: last exercise
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